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1. When two atoms combine to form a molecule, energy is
(1) always absorbed
(2) always released
(3) sometimes absorbed and sometimes released
(4) never absorbed or released
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As a chemical bond forms between two hydrogen atoms
the potential energy of the atoms
(1) decreases (3) remains the same

(2) increases
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. As energy is released during the formation of a bond, the
stability of the chemical system generally will
(1) decrease (3) remain the same

(2) increase

4. Given the reaction:
Cl(g) + Cl(g) - Cly(g) + energy
‘Which statement best describes the reaction?
(1) A bond is formed and energy is absorbed.
.(2) A bond is formed and energy is released.
(3) A bond is broken and energy is absorbed.
(4) A bond is broken and energy is released.

5. Which electron-dot diagram represents H,?
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6. Which properties are characteristic of the Group 1 metals?
(1) high reactivity and the formation of stable compounds
(2) high reactivity and the formation of unstable

compounds
(3) low reactivity and the formation of stable compounds
(4) low reactivity and the formation of unstable -
compounds

7. When 2 sodium atom reacts with a chlorine atom to form a
compound, the electron configurations of the ions forming
the compound are the same as those in which noble gas
atoms?

(1) krypton and neon

(2) krypton and argon

(3) neon and helium
(4) mneon and argon

8. Which of the following elements is most likely to form a
compound with radon?

(1) iodine
(2) fiuorine

(3) sodium
(4) calcium
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13.

Ln whjch/compo\m& do the {émms have the greatest
difference in electronegativity?

(1) NaBr (3) KF

(2) AlCL (4) Li

. Which compound would most likely have the greatest ionic
character?

1) co (3) Ca0

(2) KF (4) LiB

. Given the reaction:

H, + Cl, »2HCl
Which statement best describes the energy change as bonds
are formed and broken in this reaction?
(1) The breaking of the Cl~Cl bond releases energy.
(2) The breaking of the H-H bond releases energy.
(3) The forming of the H-Cl bond absorbs energy.
(4) The forming of the H—CI bond releases energy.

. Which of these elements has an atom with the most stable

outer electron configuration?
(1) Ne
@ a

(3) Ca
(4) Na

Given the reaction:
M+2H,0 - MOH), + H,

The metal represented by M is most likely a metal from

Group

m1
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. In which compound have electrons been transferred to the

oxygen atom?
(1) co,
(2) NO,

(3) N,0
(4) Ne,0

. Which electron-dot diagram best represents a compound

that contains both ionic and covalent bonds?
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. Element X has an electron configuration of

2-8-3. This element will combine with the phosphate ion to
form a compound with the formula

(1) XPO, (3) X,FPO,
(2) X0y, (4) X,(POs
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